Képletgvijtemény Finanszirozas-gazdasagtanbol

I(X]+rf*T *\/T
1. c=S*N(d,)-X*e " *N(d,)2. d, = +2

o #A[T 2
¥ PR
_ u— u-—
3. d, =d, —o#T 4 m=U"D 5 _
cu_cd !
S*(u—d) S*(d—eft)+m*p J*f
6. m=—>—2"7T.p= e i 8 y=e 7 9 F=gxeld
pu_pd M*e/

—r ¥t n n
10. p=X*e" " +¢c-5 11. NPV =Y p; x NPV; 12. S(NPV)= \/Zpl* NPV; — NPV )?

1= i=1
2*¥U*F 2*D
13.0=,—— .14. 0=
0= cP 0 1/

2
16. ANPV = NPV, + NPV, +C+P 17. 9 33,C%07 18, ¥ = r—L*T*p, s 1rr
4 l+rD

i
19. /" =r*(1-T*L) 20. GPV = Z Fe

- ) 21. v =DxTp

22. WACC=rp x—E i # (=T ) =2 23 =y (g =) 2
g E D ( C) D+ E E A (A D) E
24. RR=ry+—V4(p o) 25-7, =Y w, xr

NPV, — NPVg =

1 n
non —*ZEI
26. s :\/ w,xw,; xs; x5, xR; 27. AF, w 28. ypp=l_i=l

=1 = o (1+7r)" xr B
1 (1+an
L 1+ GPV
29.KE = —— 30. /) 31. P=ex———— 32. PI =
AFM M = ]‘[1(1+z ) e o
: j=
B _ Zn:wi*Cov(rA,ri)
33. w, = : : Cov(rD .rE) 34. p, - Cov(rl,rm) 35. 8, = :
op+0) —2><C0v(rD :rE) o o,

2
36. E(r)=r, +|E(r,)-r,]* B, 37. ﬁA:WA*O'A+WB*2O'A*O'B*RAB
o

m

38. NPV =-F, +Z

l1(+r)'

39. DIVy = DIVy + a x (B x EPS| — DIV )



